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M.Com. DEGREE EXAMINATION – 

JUNE 2009.

(AY 2004–05 batch onwards)

First Year

ADVANCED FINANCIAL ACCOUNTING AND 

ACCOUNTING STANDARDS

Time : 3 hours Maximum  marks : 75

PART A — (3 × 5 = 15 marks)

Answer any THREE questions.

All questions carry equal marks.

1. Explain  Rebate  on  Bills  Discounted and how is  it 

treated in Banking Company accounts.

PÈÄ ö\´u Esi¯À «uõÚ wºøÁ ÂÍUS. AøÁ Á[Q 

PnUQÀ GÆÁõÖ øP¯õÍ¨£kQÓx.

2. How will you value the shares of a company?

J¸ |Ö©zvß £[S GÆÁõÖ ©v¨¤h¨£kQÓx?
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3. The  average  capital  employed  by  X  Ltd.  is  

Rs. 30,00,000 whereas net trading profits before tax for 

the  last  three  years  have  been  Rs.  14,60,000,  

Rs.  14,45,000 and Rs.  15,20,000.  In these three years 

Managing Director was paid a salary of Rs. 5,000 p.m. 

but  now he  would be  paid  a  salary  of  Rs.  7,500  pm. 

Nominal  rate  of  return  expected  in  the  industry  in 

which  X  Ltd.  engaged  is  20%.  Rate  of  tax  is  50%. 

Calculate  the  goodwill  on  the  basis  of  two  years 

purchase of super profits.

X ¼m  |Ö©zvÀ  Dk£kzu¨£mkÒÍ  \µõ\¶  »uÚ®  ¹. 

30,00,000  AÁºPÎß  Ph¢u  ßÖ   BskPÎß  Á¶US  ¬

¢øu¯  Â¯õ£õµ  C»õ£®  ¬øÓ÷¯  ¹.  14,60,000  

¹.  14,45,000,  ¹.  15,20,000  C¢u  ßÖ  BskPÎÀ 

÷©»õsø© C¯US{¸US ©õu® ¹. 5,000 Ãu® \®£Í® u

¢uÚº BÚõÀ Á¸® BskPÎÀ AÁ¸US ©õu® ¹. 7,500 

Ãu®  uµ  ¬iÄ  ö\´¯¨£mhx.  X  ¼m  |Ö©zvß 

Â¯õ£õµzvÀ C¯À£õP Gvº£õºUP£k® C»õ£ ÂQu® 20% 

Á¶  ÂQu®  50%  GÚUöPõsk  C¸  Á¸h  ªøP  C»õ£ 

¬øÓ°À Â¯õ£õµzvß {Øö£¯º PnUQk.

4. The following is the balance sheet of Weak Ltd. on 

31.3.2007.

Liabilities Amount Assets Amount

1,00,000 Eq. shares of 

 Rs. 10 each fully paid 10,00,000

Land

Plant & Machinery

1,00,000

2,30,000

Sundry creditors 1,73,000 Furniture & Fittings 68,000

Stock 1,50,000
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Liabilities Amount Assets Amount

Debtors 70,000

Cash at bank 5,000

Profit and Loss a/c 5,50,000

11,73,000 11,73,000

The approval of the court was obtained for the following 

scheme of reconstruction :

(a) The equity shares to be reduced to Rs. 4 per share.

(b) Plant  and Machinery to  be  written down to Rs. 

1,50,000.

(c) Stock to be revalued at Rs. 1,40,000.

(d) The  provision  for  bad  and  doubtful  debts  to  be 

created Rs. 2,000.

(e) Land to be revalued at Rs. 1,42,000.

Pass the necessary journal entries to give effect to 

the  above  and  prepare  revised  balance  sheet  after 

reconstruction.

ÃU  ¼m  |Ö©zvß  31.3.2007  AßÖ  C¸¨¦  |ø»U 
SÔ¨¦ ¤ßÁ¸©õÖ

ö£õÖ¨¦ öuõøP ö\õzx öuõøP
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1,00,000 ¹. 10 ¬ÊÁx® |»® 1,00,000

ö\¾zv¯ £[SPÒ 10,00,000 C¯¢vµ® 2,30,000

£Ø£» PhÜ¢÷uõº 1,73,000 ©øÚ¯oPÒ 68,000

\µUS 1,50,000

PhÚõÎPÒ 70,000

öµõUP® 5,000

C»õ£ {mh P/S 5,50,000

11,73,000 11,73,000

A¢|Ö©®  ¤ßÁ¸®  ^µø©¨¦US  }v©ßÓzvß 

J¨¦uÀ ö£Ó¨£mkÒÍx

(A) £[SPÒ ¹. 4 ©v¨¦US SøÓUP¨£h ÷Ásk®.

(B) C¯¢vµzvß  ©v¨ø£  ¹.  1,50,000  ©v¨¦US 

SøÓUP¨£h ÷Ásk®.

(C) \µUS ¹. 1,40,000 GÚ ©Ö©v¨¤h ÷Ásk®.

(D) ÁµõUPhß JxUS ¹. 2,000. JxUP ÷Ásk®.

(E) |»® ¹. 1,42,000 GÚ ©Ö©v¨¤h ÷Ásk®.

÷©ØTÔ¯ ^µø©¨¦US ÷uøÁ¯õÚ £vÄPøÍ u

¢x ^µø©¨¦US ¤ÓS EÒÍ C¸¨¦ |ø» u¯õº ö\´P.

5. In a company,  A hold 100 shares of Rs. 10 each on 

which he has paid Re. 1 pre share as application money.
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B hold 200 shares of Rs. 10 each on which he has paid 

Re. 1 on application and Rs. 2 on allotment money.

C hold 300 shares of Rs. 10 each on he has paid Re. 1 on 

application, Rs. 2 on allotment and Rs. 2 on first call.

They all failed to pay second call money of Rs. 2 and 

directors  forefeit  their  shares.  These  shares  of  

Rs. 10 were reissued subsequently for Rs. 11 per share 

as  fully  paid.  Journalize  the  forfeiture  and  reissue 

transactions.

J¸  |Ö©zvÀ  A Gß£Áº  100  £[SPÒ  ¹.  10  Ãu® 

øÁzxÒÍõº  AÁØÔß  «x  £[S  Âsn¨£  £n®  

¹. 1 ©mk® ö\¾zv²ÒÍõº.

B Gß£Áº  200  £[SPÒ  ¹.  10  Ãu®  øÁzxÒÍõº 

AÁØÔß  «x  £[S  Âsn¨£  £n®  ¹.  1  ©ØÖ®  

¹. 2  JxURmk £n® ö\¾zv²ÒÍõº.

C Gß£Áº  300  £[SPÒ  ¹.  10  Ãu®  øÁzxÒÍõº 

AÁØÔß «x £[S Âsn¨£ £n® ¹. 1 ¹. 2 JxURmk 

£n®  ©ØÖ®  ¬uÀ AøÇ¨¦ ¹. 2 ö\¾zv²ÒÍõº.

AøÚÁ¸®  CµshõÁx  AøÇ¨¦  ¹.  2  ö\¾zuõu 

PõµnzuõÀ  AÁºPÒ  £[SPøÍ  JÖ¨¤Ç¨¦  ö\´x 

AøÚzx £[SPÐ® ¹. 10 ö\¾zv¯ £[SPÍõP ¹. 11 US 

©ÖöÁÎ±k ö\´uÚº. JÖ¨¤Ç¨¦ ©ØÖ® ©ÖöÁÎ±k |

PÌÄPÎß SÔ¨÷£k £vÄPøÍ u¸P.

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.
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All questions carry equal marks.

6. The following is the balance sheet of D, E and F who 

were equal partners as on 1.6.2006.

Liabilities Amount Assets Amount

Bills payable 5,000 Cash 600

Creditors 6,000 Debtors 12,500

Capital accounts : Stock 11,400

D’s Capital 16,800 Furniture 2,400

E’s Capital 12,600 Building 19,500

F’s Capital 6,000

46,400 46,400

They have agreed to take  H into partnership and give 

him fourth share in the profits on the following terms :

(a) That H should bring in Rs. 9,000 for goodwill and 

Rs. 15,000 as capital.

(b) That one half of the goodwill shall be withdrawn 

by the old partners.

(c) That  stock  and  furniture  to  be  depreciated  

by 10%.    

(d) That  a  liability  of  Rs.  1,080  be  created  against 

bills discounted.

(e) That the value of building should be valued as Rs. 

27,000.
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(f) That a provision of 5% on debtors be created for 

doubtful debts.

(g) The value of assets and liabilities other than cash 

are not be altered.

You  are  required  to  prepare  profit  and  loss 

adjustment  account  and  opening balance  sheet  of  the 

firm as newly constituted.

 Cøn¯õÚ  C»õ£  {mh  ÂQuzxhß  D,  E,  F 

Gß£Á¶ß Tmhõsø©°ß 1.6.2006 AßÖ C¸¨¦ |ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ,

ö£õÖ¨¦ öuõøP ö\õzx öuõøP

ö\¾zxuØS¶¯ öµõUP® 600

  ©õØÖ^mk 5,000 PhÚõÎPÒ 12,500

: £Ø£» PhÜ¢÷uõº 6,000 \µUS 11,400

D ¬uÀ 16,800 ©øÚ¯oPÒ 2,400

E ¬uÀ 12,600 Pmih® 19,500

F ¬uÀ 6,000

46,400 46,400

A¢u  ßÖ   TmhõÎPÒ  H Gß£Áøµ  {õßQÀ  J¸ 
C»õ£ £[QÀ RÌPõq® |£¢uøÚPÒ ÷£¶À Tmhõsø© 
÷\ºzx öPõÒÍ ¬iÄ ö\´uÚº.

(A) H Gß£Áº {Øö£¯¸UPõP ¹. 9,000 ©ØÖ®  »uÚ©õP 
¹. 15,000 ö\¾zu ÷Ásk®.

PG–2197

H
ow
T
oE
xa
m.
co
m

Previous year old exam question papers and there answers available for free

http://www.howtoexam.com

http://www.howtoexam.com


ws 9

(B) {Øö£¯¶À CµsiÀ J¸ £[øP £øÇ¯ TmhõÎPÒ 
Gkzx ö\À»»õ®.

(C) \µUS  ©ØÖ®  ©øÚ¯oPÒ  10%  ÷u´©õÚ®  ö\´¯ 
÷Ásk®.

(D) PÈÄ  Esi¯¾UPõÚ  ¹.  1,080  ö£õÖ¨¦  HØ£kzu 
÷Ásk®.

(E) Pmih® ¹. 27,000 GÚ ©Ö©v¨¤h ÷Ásk®.

(F) PhÚõÎPÒ  «uõÚ  5%  \µzx  I¯UPhß  «x 
E¸ÁõUP¨£mhx.

(G) öµõUP® uÂµ ©ØÓ ö\õzx ©ØÖ® ö£õÖ¨¦PøÍ 
©õØÓ® ö\´¯Thõx.

CÆÂÁµzvøÚ  öPõsk  Tmhõsø©°ß 
©Ö©v¨¥mk PnUS ©ØÖ® C¸¨¦ |ø» SÔ¨¦ u¯õº ö\
´P.

7. White  Ltd.  agreed  to  acquire  the  business  of  

Green Ltd. as on 31.12.2006 on which date the Balance 

Sheet of Green Ltd. was summarized as follows : 

Liabilities Amount Assets Amount

60,000 shares of Rs. 10 

 each fully paid 6,00,000

Goodwill

Land & Building

1,00,000

3,00,000

General Reserve 1,70,000 Plant & Machinery 3,40,000

Profit and Loss account 1,10,000 Stock 1,68,000

6% Debentures 1,00,000 Sundry Debtors 56,000

Creditors 20,000 Cash 36,000

10,00,000 10,00,000
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The  consideration  payable  by  White  Ltd.  was  as 

follows :

(a) A cash payment  of  Rs.  2.50 for  every  shares  in 

Green Ltd.

(b) The  issue  of  90,000  Rs.  10 shares  at  an  agreed 

value of Rs. 12.50 per share.

(c) The issue of such an amount of fully paid 5% Rs. 

100 debentures in White Ltd. at 96% as is sufficient to 

discharge  the  6%  debentures  in  Green  Ltd.  at  a 

premium of 20%.

(d) The  directors  of  White  Ltd.  valued  Land  and 

Building at Rs. 4,00,000 and created a provision of 5% 

on debtors against doubtful debts.

(e) The expenses of liquidation of Rs. 6,000 were paid 

by White Ltd.

Give journal  entries to close the books of  Green 

Ltd. and prepare necessary accounts to close the books.

J°m  ¼m  |Ö©®  R¶ß  ¼m  |Ö©zøu  31.12.2006 
AßÖ  Áõ[SÁuØS  J¨¦öPõshx.  AßøÓ¯  ÷uv°À 
R¶ß ¼m |Ö©zvß C¸¨¦ |ø»U SÔ¨¦ ¤ßÁ¸©õÖ

ö£õÖ¨¦ öuõøP ö\õzx öuõøP

60,000 ¹. 10 ¬ÊÁx® 
ö\¾zv¯ £[SPÒ 6,00,000

{Øö£¯º
|»® Pmih®

1,00,000
3,00,000

ö£õx Põ¨¦ 1,70,000 C¯¢vµ® 3,40,000
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C»õ£ {mh P/S 1,10,000 \µUS 1,68,000

6% Phß £zvµ® 1,00,000 PhÚõÎPÒ 56,000

PhÜ¢÷uõº 20,000 öµõUP® 36,000

10,00,000 10,00,000

J°m  ¼m  |Ö©®  öPõÒ¬uÀ  ©Ö£¯ß 
RÌUPshÁØøÓ ö\¾zu J¨¦uÀ AÎzux.

(A) R¶ß  ¼m  |Ö©  £[Suõµº  JÆöÁõ¸Á¸US®  
¹. 2.50 ö\¾zu ÷Ásk®.

(B) ¹. 10 ©v¨¦ÒÍ 90,000 £[SPøÍ ¹. 12.50 ©zvÀ uµ 
÷Ásk®.

(C) Q¶ß  ¼mß  5%  ¹.  100  Phß  £zvµuõµºPÐUS  ÷\µ 
÷Ási¯ öuõøPø¯ 20% ¬øÚ©zvÀ ö\¾zu J°m ¼mß 
6%  ¸. 100 Phß £zvµ[PøÍ 96% ©v¨¤À ö\¾zu ¬iÄ 
ö\´¯¨£mhx.

(D) |»®  ©ØÖ®  Pmih®  ¹.  4,00,000  GÚ  ©Ö©v¨¤h 
÷Ásk® ©ØÖ® PhÚõÎPÒ «x 5% ÁµõUPhß JxUS ö\
´¯ ÷Ásk®.

(E) Pø»¨¦  ö\»Ä  ¹.  6,000  J°m  ¼m  |Ö©®  ö\¾zu 
J¨¦uÀ AÎzux.

CÆÂÁµzvøÚ  öPõsk  R¶ß  ¼m  |Ö©zvß 
SÔ¨÷£mk¨ £vÄPøÍ u¢x PnUSPøÍ \¶PmkP.

8. The following are the balance sheets of H Ltd. and S 

Ltd. as on 31.3.2007.

Liabilities H Ltd. S Ld. Assets H Ltd. S Ld.

Share capital 

 (10% Pref. 

 Shares of 

Land and 

 Buildings

Machinery less 

3,10,000 1,60,000
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 Rs. 100 each) — 1,00,000  10% depreciation 2,70,000 1,35,000

Equity shares 

 of  Rs. 100 each 10,00,000 4,00,000

3,000 shares in 

 S Ltd. 4,50,000 —

General Reserve 1,00,000 50,000 Stock 2,20,000 1,50,000

Profit and Loss 

 a/c on 1.4.2006 40,000 30,000

Sundry Creditors

Cash

1,55,000

85,000

90,000

1,95,000

Profit and Loss 

 a/c on 31.3.2007 2,00,000 80,000

Sundry Creditors 1,50,000 70,000

14,90,000 7,30,000 14,90,000 7,30,000

 H  Ltd.  acquired  3,000  equity  shares  in  S  Ltd.  on 

30.9.2006. As on the date of acquisition H Ltd. found the 

value  of  Land and Building and Machinery  of  S  Ltd. 

should be Rs. 1,50,000 and Rs. 1,92,500 respectively.

Prepare the consolidated balance sheet of H Ltd. and its 

subsidiary S Ltd.  as on 31.3.2007 taking into account 

the  fact  that  assets  are  to  be  taken  at  their  proper 

values.

H  ¼m  ©ØÖ®  S  ¼m  |Ö©zvß  31.3.2007  AßÖ 

C¸¨¦ |ø»U SÔ¨¦ ¤ßÁ¸©õÖ

ö£õÖ¨¦ H Ltd. S Ld. ö\õzx H Ltd. S Ld.

£[S ¬uÀ 

10% 

¬ßÝ¶ø© ¹. 

|»® Pmih® 

C¯¢vµ® 10% 

÷u´©õÚ®

3,10,000 1,60,000
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100 £[SPÒ — 1,00,000 2,70,000 1,35,000

¹. 100 ÷{ºø© 

£[SPÒ 10,00,000 4,00,000

¬u½k (S¼m 

|Ö©zvÀ 

3,000 £[SPÒ)

4,50,000 —

ö£õx Põ¨¦ 1,00,000 50,000 \µUS 2,20,000 1,50,000

C»õ£ {mh 

P/S 1.4.2006 40,000 30,000

£Ø£» 

PhÚõÎPÒ 1,55,000 90,000

31.3.2007 2,00,000 80,000 öµõUP® 85,000 1,95,000

£Ø£» PhÜ

¢÷uõº 1,50,000 70,000

14,90,000 7,30,000 14,90,000 7,30,000

H  ¼m  S  ¼m  3,000  £[SPøÍ  30.9.2006  AßÖ 

Áõ[Q¯x  C¯US{ºPÒ  S  ¼m  |Ö©zvß  |»®  Pmih® 

©ØÖ® C¯¢vµ® ö\õzxUPøÍ ¹. 1,50,000 ¹. 1,92,500 GÚ 

©v¨¤h Â¸®¤Úº. C¢u ÂÁµzvøÚ öPõsk 31.3.2007 

AßÖ J¸[QøÚ¢u C¸¨¦ |ø» u¯õº ö\´P. 

9. The  following  are  the  balances  of  the  Indian 

Scheduled Bank Ltd :

Debit Credit

Share capital

2,50,000 shares of Rs. 20 each Rs. 3 paid 7,50,000

1,37,500 shares of Rs. 10 each Re. 1 paid 3,75,000
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Debit Credit

Reserve 5,00,000

Current accounts 23,43,853

Deposit accounts 6,85,135

Endorsements for customers 1,61,599

Acceptances for customers 1,78,617

Dividend equalization fund 56,005

Profit and Loss account on 1.4.2006 1,28,139

Interest received 1,41,000

Discount charges 38,461

Commission charges 1,54,859

Dividend received less taxes 86,251

Cash in hand 3,41,644

Cash at reserve bank of India 6,21,858

Money at call and short notice 2,79,416

Bills discounted 8,33,483

Advances to customers 13,42,120

Liabilities of customers for endorsements 1,61,599

Liabilities of customers for acceptances 1,78,617

Bank premises 2,60,000

Shares in subsidiary company 2,48,000

Shares in affiliated company at cost 1,68,000

Balances with other banks 2,24,220

Investments at cost 6,18,358

Interest paid 42,048

General expenses 1,91,363
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Debit Credit

Dividends Interim 32,188

Final 56,005

55,98,919 55,98,919

You are required to prepare profit and loss account and 

balance  sheet  after  taking  into  account  the  following 

adjustments :

(a) Rebate  on  bills  discounted  amounts  to  

Rs. 3,271.

(b) Rs. 20,000 to be transferred to General Reserve.

C¢v¯ £mi¯¼h¨£mh Á[Q°ß PnUS C¸¨¦PÒ 
¤ßÁ¸©õÖ

£ØÖ ÁµÄ

£[S ¬uÀ

2,50,000 £[SPÒ ¹. 20 À ¹. 3 ö\¾zv¯x 7,50,000

1,37,500 £[SPÒ ¹. 10 À ¹. 1 ö\¾zv¯x 3,75,000

Põ¨¦ 5,00,000

{h¨¦ PnUS 23,43,853

øÁ¨¦ PnUS 6,85,135

ÁõiUøP¯õÍºPõÚ ÷©ö»ÊzxUPÒ 1,61,599

1,78,617

£[S Buõ¯ \©Ú |v 56,005

C»õ£ {mh P/S (1.4.2006) 1,28,139

Ámi ö£ØÓx 1,41,000

PÈÄ ö£ØÓx 38,461

uµS ö£ØÓx 1,54,859
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£ØÖ ÁµÄ

£[S Buõ¯® ö£ØÓx Á¶ ÷£õP 86,251

öµõUP® øP°¸¨¦ 3,41,644

öµõUP® RBI Á[Q°À 6,21,858

AøÇ¨¦ ©ØÖ® SÖ¢uÁøn Phß 2,79,416

Esi¯À uÒÐ£i¯õÚøÁ 8,33,483

ÁõiUøP¯õÍºPÐUS AÎzu Phß 13,42,120

ÁõiUøP¯õÍºPÐUS ÷©ö»ÊzxUPõÚ ö£õÖ¨¦ 1,61,599

ÁõiUøP¯õÍºPÐUS J¨¦uÀPõÚ  ö£õÖ¨¦ 1,78,617

|»¬® Pmih¬® 2,60,000

xøn |Ö©zvß £[SPÒ 2,48,000

\õº¦ |Ö©zvß £[SPÒ 1,68,000

Cuµ Á[QPÎß öµõUP® 2,24,220

¬u½kPÒ 6,18,358

Ámi ö\¾zv¯x 42,048

ö£õx ö\»ÄPÒ 1,91,363

£[Põuõ¯® – Cøh°À AÎzux 32,188

                  CÖv 56,005

55,98,919 55,98,919

CÁØøÓU öPõsk AÆÁ[Q°ß C»õ£ {mh PnUS 

©ØÖ® C¸¨¦ |ø» u¯õº ö\´P. A¨ö£õÊx

(A) PÈÄ ö\´u Esi¯À «x ¶÷£m ¹. 3,271 GÚÄ®

(B) ¹. 20,000 ö£õx Põ¨¤ØS ©õØÓ¨£h ÷Ásk®.
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10. The following are the balance sheet of ABC Ltd. as 

on 31.3.2007.

Liabilities Amount Assets Amount

12,000 shares of Rs. 10 

each fully paid 1,20,000

Goodwill

Land and Building

10,000

20,500

Less calls in arrear Rs. 3 

 per share on 3,000 9,000

Plant and Machinery

Preliminary expenses

50,850

1,500

1,11,000 Stock 10,275

Creditors 15,425 Debtors 15,000

Provision for tax 4,000 Cash 1,500

Profit & Loss a/c 20,800

1,30,425 1,30,425

Machinery value was Rs. 10,000 excess it is proposed to 

write down and to extinguish profit  and loss account, 

goodwill  and preliminary expenses  by  adoption of  the 

following scheme

(a) Forfeit  the  shares  on  which  the  cells  are 

outstanding

(b) Reduce the capital by Rs. 3 per share

(c) Reissue the forefeited share at Rs. 5 per share

(d) Utlise the provision for tax if necessary

Give the journal entries for the above and prepare 

the balance sheet after reconstructions.

ABC  ¼m |Ö©zvß 31.3.2007 AßÖ C¸¨¦ |ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ
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ö£õÖ¨¦ öuõøP ö\õzx öuõøP

12,000 £[SPÒ ¹. 10 

¬ÊÁx® ö\¾zv¯x 1,20,000

{Øö£¯º

|»® Pmih®

10,000

20,500

(–) ö\¾zu ÷Ási¯ 

AøÇ¨¦ ¹. 3 Ãu® 

3,000 9,000

C¯¢vµ®

B¯zu ö\»ÄPÒ

50,850

1,500

1,11,000 \µUS 10,275

PhÜ¢÷uõº 15,425 PhÚõÎPÒ 15,000

Á¶ JxUS 4,000 öµõUP® 1,500

C»õ£ {mh P/S 20,800

1,30,425 1,30,425

C¯¢vµ®  ¹.  10,000  AvP©õP  ©v¨¤h¨£mkÒÍx. 

Aøu  SøÓUPÄ®  C»õ£  {mh  P/S  B¯zu  ö\»ÄPÒ 

{Øö£¯º CÁØøÓ SøÓUPÄ®.

(A) AøÇ¨¦  |»øÁ²ÒÍ  £[SPøÍ  JÖ¨¤Ç¨¦ 

ö\´uÚº.

(B) AøÚzx £[SPÐ® ¹. 3 SøÓUP¨£mhx.

(C) JÖ¨¤Ç¨¦  ö\´x  AøÚzx  £[SPÐ®  ¹.  5 

US ©ÖöÁÎ±k ö\´uÚº

(D) ÷uøÁ¨£mhõÀ Á¶ JxUS E£÷¯õQUPÄ®.

C¢|PÌÄPøÍ  SÔ¨÷£k  £vÄPøÍ  u¢x 

C¸¨¦ |ø» u¯õº ö\´P.
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11. Explain different methods of valuation of Goodwill of 

a firm.

J¸ |Ö©zvß {Øö£¯º ©v¨¤k® ¬øÓPøÍ ÂÁ¶. 

12. Explain  the  rules  relating  to  Redemption  of 

Debentures and also its types.

PhÜmk¨£zvµ  «m¦  ÂvPøÍ  ÂÍUQ  Auß 

ÁøPPøÍ ÂÁ¶. 

————————
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